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Checkit:  Write two different representations
for the following numbers:

1 know the place value of each
digit in a 4 digit number

1 an use the part-whole model
I @n explain my reasoning

Jack says: (T mber has five

thousands, three
hundreds and 64 ones.

My number has fifty
three hundreds, 6 tens
and 4 ones.

Amir says

Who has the largest number?
Explain.
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(Checkit: ~ Write two different representations I know the place value of each
for the following numbers: digit in a 4 digit number
1.3872 3000+800+70+2=3872 [n use the partuihoke model
0. 5490 I @n explain my reasoning
3.2059

Think it: Use < = > symbols to compare the following

representations. '
- &)

1. 23 tens and 14 ones[>] 240 ones
My number has fifty | Amirsays: 5364 |
three hundreds, 6 tens 3
and 4 ones @

Lo
Who has the largest number?

L4 = 4
2. 4 hundreds and 4 tens [ 140 tens and 40 ones
%" They are both the same. |

My number has five
thousands, three
hundreds and 64 ones.

450

3. 920 ones and 4 tens [ 1 70 tens and 250 ones.




